Γ Ε Ν Ι Κ Ο      Τ Υ Π Ο Λ Ο Γ Ι Ο

 

n(%) = (Pout/Pin)x100%


f (Hz) = n P / 120   


ω (rad/s) = 2 π n / 60  



ωσύνχ. = 2πf ( 2 / P )



Εa = Κ Φ ω                    τ = Κ Φ i   



1Ηp = 0,746 Kw



Ea = Vφ  ±  Ia (Ra+Rs)  ±  ΔVψ  
Μηχανές    D.C.


Εa = Vφ  ±  Ia (Ra + j Xs) 


Μηχανές    A.C.


Pαναπτ.  =  E a  x  I a  =  τcon  x  ω


τ  =  P / ω
                            __



Pηλ =  √ 3  ΙL  Vπ  cosθ  =  3  Iφ  Vφ  cosθ
                                                                                          __

Συνδεσμολογία  αστέρα  ( Υ )  

Iφ  =  ΙL  
και
Vφ  =   Vπ /  √ 3 

                                                                                                            __

Συνδεσμολογία  τριγώνου  ( Δ ) 

Vφ  =  Vπ  
και
Ιφ  =  ΙL /  √ 3 


Δ
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=

  εκατοστιαία διακύμανση τάσης


s = (ωσύνχ. – ωm ) / ωσύνχ.


ωm = (1-s) ωσύνχ.


Pcon = (1-s) Pag


Pcu r   = s Pag  
        ή    
Pcu r   =  Pag  – Pcon  


Pαπ.μηχ.περ.    =   Pcon   –  Pout  



PCust  = 3 Ι21 R1         
PCu r  =  3 Ι22 R2 



Pag = Pin  – PCust  – Pcore 
 

Prot   =  Pcore   +  Pαπ.μηχ.περ.
_1187025054.unknown

